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LINEAR INEQUALITIES

Example

1. If  then

A. 

< − , x ∈ R
x

4

5x − 2

3

7x − 3

5

x ∈ ( − ∞, 4]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6KvDp7r2y8zf


B. 

C. 

D. 

Answer: B

Watch Video Solution

x ∈ ( − ∞, 4)

x ∈ (4, ∞)

x ∈ [4, ∞)

2. The solution set of

 is

A. 

−12 < 4 − ≤ 2, x ∈ R
3x

−5

( , ]
10

3

80

3

https://dl.doubtnut.com/l/_6KvDp7r2y8zf
https://dl.doubtnut.com/l/_LUoh47LcTVnd


B. 

C. 

D. 

Answer: C

Watch Video Solution

[ − , )
80

3

10

3

( − , − ]
80

3

10

3

( , − )
80

3

10

3

3. If  , then the set of

solutions is

A. A. 

3 − 2x2 > 5x, x ∈ R

( − ∞, − )
1

2

https://dl.doubtnut.com/l/_LUoh47LcTVnd
https://dl.doubtnut.com/l/_uGeTQ39k81rW


B. B. 

C. C. 

D. D. 

Answer: C

Watch Video Solution

(3, ∞)

( − , 3)
1

2

[ − , 3]
1

2

4. If  , then the solution

set is

A. 

≤ 1, x ∈ R
2x + 1

x − 2

( − ∞, )
1

2

https://dl.doubtnut.com/l/_uGeTQ39k81rW
https://dl.doubtnut.com/l/_Do4b92GVKlpg


Multiple Choice Question

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − ∞, − ]
1

2

[ − 3, 2]

[ − 3, 2)

1. If  , then( x + 4) ≥ (x − 6), x ∈ R
1

2

3

5

1

3

https://dl.doubtnut.com/l/_Do4b92GVKlpg
https://dl.doubtnut.com/l/_WWU3az0EMIww


A. (a) 

B. (b) 

C. (c) 

D. (d) 

Answer: A

Watch Video Solution

x ∈ ( − ∞, 120]

x ∈ [120, ∞)

x ∈ ( − ∞, 120)

x ∈ (120, ∞)

2. If x is a negative integar , then the solution

set of  is−12x > 30

https://dl.doubtnut.com/l/_WWU3az0EMIww
https://dl.doubtnut.com/l/_qYFCdWdD9viA


A. A. 

B. B. 

C. C. 

D. D. 

Answer: B

Watch Video Solution

{ − 2, − 1}

{…, − 5, − 4, − 3}

{…, − 5, − 4, − 3, − 2}

{ − 2, − 1, 0, 1, 2…}

3. The solution set of system of linear

inequalities 

https://dl.doubtnut.com/l/_qYFCdWdD9viA
https://dl.doubtnut.com/l/_RtlnIAgplVxW


is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2(x + 1) ≤ x + 5, 3(x + 2) > 2 − x, x ∈ R

[ − 1, 3]

( − 1, 3)

( − 1, 3]

[ − 1, 3)

https://dl.doubtnut.com/l/_RtlnIAgplVxW


4. The solution set of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

6 ≤ − 3(2x − 4) < 12, x ∈ R

(0, 1]

[1, 0)

(0, 1)

[0, 1]

https://dl.doubtnut.com/l/_wtja49T36zvR
https://dl.doubtnut.com/l/_QcSZbH2pdFtr


5. The length of rectangle is double the

breadth , If the minimum perimeter of the

rectangle is 120 cm , then

A. breadth  cm

B. breadth  cm

C. breadth  cm

D. breadth  cm

Answer: C

Watch Video Solution

> 20

< 20

≥ 20

≤ 20

https://dl.doubtnut.com/l/_QcSZbH2pdFtr
https://dl.doubtnut.com/l/_nR3iAYAjVFsB


6. If  ,then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ≤ 8

−x <
y

b

−x ≥ − 8

−x < − 8

−x > − 8

https://dl.doubtnut.com/l/_nR3iAYAjVFsB


7. Given that x , y and b are real numbers and

 then

A. A. 

B. B. 

C. C. 

D. D. 

Answer: C

Watch Video Solution

x ≤ y, b < 0

<
x

b

y

b

≤
x

b

y

b

>
x

b

y

b

≥
x

b

y

b

https://dl.doubtnut.com/l/_y1TRZEfEe0ku
https://dl.doubtnut.com/l/_Y54ntpfwmxLl


8. Given that x,y and b real are real numbers

and  , then

A. A. 

B. B. 

C. C. 

D. D. 

Answer: A

Watch Video Solution

x ≥ y, b > 0

≥
x

b

y

b

>
x

b

y

b

≤
x

b

y

b

<
x

b

y

b

https://dl.doubtnut.com/l/_Y54ntpfwmxLl


9. The solution of the linear in equality in x

represented on number line as 

A. A. 

B. B. 

C. C. 

D. D. 

Answer: B

Watch Video Solution

x ∈ [4, ∞)

x ∈ (4, ∞)

x ∈ ( − ∞, 4)

x ∈ ( − ∞, 4]

https://dl.doubtnut.com/l/_67Z4gtW3cJKv


10. The solution of the linear inequality in x

represented on number line as 

A. A. 

B. B. 

C. C. 

D. D. 

Answer: A

( − ∞, − ]
5

3

( − ∞, − )
5

3

( − , ∞)
5

3

[ − , ∞)
5

3

https://dl.doubtnut.com/l/_67Z4gtW3cJKv
https://dl.doubtnut.com/l/_YOCnc5uYCras


Watch Video Solution

11. The solution of the linear inequality in x

represented on number line as 

A. A. 

B. B. 

C. C. 

D. D. 

( − ∞, − 2) ∪ [11, ∞)

( − ∞, − 2] ∪ (11, ∞)

( − 2, 11)

( − 2, 11]

https://dl.doubtnut.com/l/_YOCnc5uYCras
https://dl.doubtnut.com/l/_1GPmRRs7nkFf


Answer: D

Watch Video Solution

12. The solution of system of linear inequalities

in x represented on line as 




(i) 



(ii)  

(iii)  

(iv) 

x ∈ ( − ∞, − 4) ∪ [3, ∞)

x ∈ ( − ∞, − 4] ∪ (5, ∞)

x ∈ ( − ∞, − 3) ∪ (5, ∞)

x ∈ ( − ∞, − 4) ∪ [5, ∞)

https://dl.doubtnut.com/l/_1GPmRRs7nkFf
https://dl.doubtnut.com/l/_kaujk2XjiYSF


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ∈ ( − ∞, − 4) ∪ [3, ∞)

x ∈ ( − ∞, − 4] ∪ (5, ∞)

x ∈ ( − ∞, − 3) ∪ (5, ∞)

x ∈ ( − ∞, − 4) ∪ [5, ∞)

13. If  , then (i) 
 (ii) 


 (iii) 
 (iv) 

< 0
1

3x − 4
x ∈ ( , ∞)

4

3

x ∈ ( − ∞, )
4

3
x ∈ (0, ∞)

https://dl.doubtnut.com/l/_kaujk2XjiYSF
https://dl.doubtnut.com/l/_JrisG07Z9jhw


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x ∈ (0, )
4

3

x ∈ ( , ∞)
4

3

x ∈ ( − ∞, )
4

3

x ∈ (0, ∞)

x ∈ (0, )
4

3

14. If  then the solution set is< 1
1

x

https://dl.doubtnut.com/l/_JrisG07Z9jhw
https://dl.doubtnut.com/l/_ggIaqzyhZb42


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(1, ∞)

[1, ∞)

( − ∞, 0) ∪ [1, ∞)

( − ∞, 0) ∪ (1, ∞)

15. If  , then the solution set is

A. A. 

≥ 2
1

x − 1

(1, ]
3

2

https://dl.doubtnut.com/l/_ggIaqzyhZb42
https://dl.doubtnut.com/l/_wkUKV3wzZSCm


B. B. 

C. C. 

D. D. 

Answer: B

Watch Video Solution

[1, ]
3

2

(1, )
3

2

( − ∞, − 3] ∪ [ , ∞)
1

2

16. The solution set of the quadratic inequality

 is

A. (a) 

3 − 2x2 ≤ 5x

( − ∞, − 3]

https://dl.doubtnut.com/l/_wkUKV3wzZSCm
https://dl.doubtnut.com/l/_J3HmMhsitt1v


B. (b) 

C. (c) 

D. (d) 

Answer: D

Watch Video Solution

[ , ∞)
1

2

[ − 3, ]
1

2

( − ∞, − 3] ∪ [ , ∞)
1

2

https://dl.doubtnut.com/l/_J3HmMhsitt1v

